ARV Y=Y

—
b
A

LB RS

1.61% - 0.00%

s RWE sWE =AER «FWE «RF

s

1R e B

1.95%

\0.65%

ERRE sWRE AER FRE «RF

e



2R E EIRE

BRE

2. B L SR

=]
JeN) S

5.19% 0.00%

s

2. BRI (L E B
== FeE
ISy

4.25%

_\0 .65%

\

ERRE sWRE AER FRE «RF
e




3hek & B S

BRE

3.8k ~ BEMEAE
NI =i

3.25%
‘\0.00%

s RWE sWE =AER «FWE «RF

— J

“ /N

=

Ik

gg__

ﬁ. #
/L_J\)X

3.6 ~ & E AR
B e

2.61% 0.65%

ERRE sWRE AER FRE «RF
e



~
+
lmH
il
SER
jjmn
oF
)

. =i s AER s TRE s RF
mE

/

i
A J%’\J

FERE =WE  RF

e

" NWE

= AR



SERHY LR =,

s

U 5 SRH VR

-

2.64%

RWmE WE "AHER - FRE «RF EERE sRE AHEER ARE RE



ST NI T O =Y

6.6 ~ SRHVHEEE i

JeN) S

1.25%

—) A \

£~
< /P

‘ﬁ‘ S SN
-
S ) X

6.6 ~ SKHYHEIEE
T



77K RA A B R

7K%Y A

BimEE

2-50%-\0.00%

RAE WE "WHER - FRE «RF

s

7.7K% ~ A

o B R S

3.57% 0.00%

ERRE sWRE AER FRE «RF

e



BEHIR - 3~ 5
R

5.47% _ 0.64%

1

—) A

N—

£~
< /P

> e
-
J%I\ ) 2.

8. BB ~ 3£~ 12)
GO

1.29%

5.50% /

\



SEIIREN B

BRE

CES)iNzS - YNSETED
ERER RS

0.35%
_\ 0.00%

s RWE sWE =AER «FWE «RF

) a4\

T T
2 /A /EL:.!\)X

7

9.E IR ENEH T
TERERERTE

0.35%
_\0.00%
|

ERRE sWRE AER FRE «RF

e



1088581 = > (RN
R B B

0.97%

" RAE sWE =R

K

= TwmE s RE

7 é::§”< f]c ~331q§:
4 /fElEl\ VRRSYASS

10.5A8GIM = > IRER
BB B

1.27%

5

= AR

" AwmE s RE

e



